Ceed => Ccec) ft) Qﬁ(«g-a /‘az,‘/{ =) ?/nm\_p
Cmeval 1§

() =) [ mankf b c/c\%oaéz(mu,ﬂ (‘z‘.p, ot [ R CPY )
[ by Trag 5 ]
(3= (WS Yotbgod =  <Prp>= Pl e H

rﬁxt‘\r>: (T’),\V),>+ O*L""P‘P> :CPthP+> _&
s [ N
(IR

(W DVY  PreH  Oex>=UlrlE = ¥elh <Pi> 20
r ©OBvious 2\
(V) =>cec) ¥e H CP'+(+> >0 — PF’L—\- ~
(Ve H <P 3>= < Ty >= <P 1> = <> o PP
, A
?jn«pécg ,l
Ccod= (VO Puel © <Prad>= (1041°2 = UPIl <

[\‘Ar‘e BH =) llhnzs—@aog (Padl- 10310 £ 1B

So, WP el e /1?//5_4/&



Cvid = ) ol 24 —= ?01‘(499/WJ W

ok/(a’\ P)J—C E(PB
Vxe@&P)* . Brdp e Ry ls Z_’e’/c?/ $o
SepeP— TR-P232=0 | oo <HA>=<Ph +>
Ther WA= £P3 3> < (B = (312
S0, e haw 97;“/2’74% C Tl W04l = (4]
& ik \3,\» (S q /vw/%/t/é wﬁ,\/
P+:<>\>( ) ’6/4/( Z’H‘Fj: (W+L+>: ZQ¥\-\—>:
sdLh >y hee co
/M(of‘guz,'& od = A (atJr:a)“l Lt
+hs s c«f/zc‘bcc«,ﬂcw}
Heew e T’+>,\«} o 4€ 'E(P). 4

= E(PbcC&( p )t

ry& B(P) =0 M’=dyek, &y ¢ [@Lﬂ )(ae@«P)J’

T s =Pir= Py iaMy, = Pal =k, a—Q@rP) A
Muvworer | 1L 7 Q amw Oczf/?@/?(ﬁ[’“«o/ Haw REILROQ) © PY=0

rQ(P)L P(Q)e> R@ < R(PY = kP> PQ =0 K



